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( PART : B—DESCRIPTIVE )
( Marks : 50 )

The figures in the margin indicate full marks
for the questions

Answer any five questions choosing one
from each Unit

UNIT—I

1. (@) Find the numbers between 200 and 300
such that when they are divided by 6, 8,

or 9—
() it leaves no remainder, i.e., exactly
divisible; _
(ii) it leaves in each case a
remainder 5. - 4
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(2)

4
(b)) A man reads 2ofa book on a day and 2
of the remainder on the second day. If
the number of pages still unread are 40,

how many pages did the book contain? 3

(c) The ratio between two numbers is
12 : 13. If each number is reduced by
20, the ratio becomes 2 : 3. Find the

numbers. 3

2. (a) Find (i) the greatest number of 4 digits
~ and (i) the smallest number of 4 digits
such that they are exactly divisible by

12, 15, 20 and 3S. .

(b) There are 50 boys in a class. Their
average weight is 45 kg. When one boy
leaves the class, the average reduces by
100 g. Find the weight of the boy who

left the class. 3
(c) M bc:ac:ab=1:2:3, find
a.b
bc ca | 3

UNIT—II

3. (a) If a b, c are in AP, show that

1 1 1
Jb+Jc Je+vJa Ja+b
| R are in AP, PN ke 4
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(3)

(b) If the 4th and 9th terms of a GP are 54
and 13122 respectively, find the GP.
Also find its general term. 6

4. (a) If aq b, c are in AP, show that
a?(b+0), b2(c+a), c2(a+b)
are in AP. 4

(b) Insert three numbers between 1 and
256 so that the resulting sequence is

a GP. 6
UNIT—III
5. (a) Using properties of determinants, prove
that
y+z x X
y zZ+x Yy |(=4xyz
z zZ x+y 4

(b) If A-—-[i _2],  verify that

adjA)! =@djA™"). 6

6. (a) Using properties of determinants, prove

that
b? +c? a2 = a’
b2 c? +a? b2 |=4a’b%c? 4
c? 7 c? a? +b?
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(b)

7. (a)

(b)

8. (g

(b)

9. (a)

(o)

(c)

(4)

IfA—2 3 verify that (A%} '1'.

UNIT—IV

If y = sin'l(oosx) +cos‘1(sin x), prove

that Elg = -
dx
dy
v, X _ ay
If x7-y* =1, find ey 6
Prove that
Ei—{than“ x-log(l+x?)} =2tan"! x

If y = x4, find %Y.

UNIT—V

Prove that

.E Jeosx de®
Jsin x ++Jcos x 4 4
Evaluate Ix tan~! xdx. ‘ 3

Evaluate Isec 4 xtan xdx. 3
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(5)

10. (a) Evaluate :

4
Elog (tan x)dx =0
(b) Evaluate Ilog(l + x?)dx. 3
(c) Evaluate Isin3 xcos xdx. 3
* Kk K
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SECTION—I
( Marks: 15) j

Put a Tick (v) mark against the correct answer in the
brackets pFOVided: 27 st i ot 9y binhirets P 1%105?10

1. If x in the number 6*106 is replaced bya sﬁztaﬁle
digit, then the number formed is exactly d1v131b1e by

11. Then what is the value of ¥» " . .|
@ 1 () h
® 2 () ;
Sl 8 ()
@ e () i
D05

/190
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(2)

(51 LA 7y u

x 67 is
2. The digit in the unit place 11 (1038)

(a) 4 ( )

(BL. (3o s ilier ) o
(c) 6 S
@ 8 ().

2 -
3. The AM between (x - y)° and (x+Y)" 18

(@) x*+y? ( )
- b)) xX*-y? ()
(c) —4xy ( )

(d) 2xy ( )

"' 4. For a standard HP, the nth term is given by

‘V(a) an=a+(n—1)d. ( )
et )

() an=a+(r11~—1)d )
@ a0
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(3)

2 -2 -g
S. If A=|—) 3 4| then A2 jg equal to
1 -2 -3

(@) A ( )
(b) 0 ( )
(c) I ( )
(d) None of the above ()

10

_1 7]_ and A% =84 + ki, then the value of k is

6. IfA=[

(@) 1 (I

(b) 7 ( )

€ -1 ( )

@ -7 ()

7. If y=(ax+ b)™" !, then ] is equal to

dx

(@) m(ax+ b)™ ( )

(b) b(m -1)(ax + b)™ ( )

(c) am(m -1)(ax + b)™ 2 ()

(d) a(m -1)(ax+ b)™ 2 ()
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8. If y=log, x,

(a)

xlog a
(b) ———
log, x

(c) loga

(d)

. The

(@)
(b) =

(c)
(d)

10. The

()
(b)
()

(d)

ola wla vja »|A

3 ~ 1/BCA/102 (R)/190
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(5)

Tick (V) either True or False : 1x5=5

11. If the average of three numbers a, b and cis A, then
the average of a, b, ¢ and A is A.

True ( )/ False ( )

12. The sum of the series 1+ — + —— +... is %

True ( )/ False | )

13. If any two rows or columns of a determinant are
proportional, then its value is zero.

True ( ) / False ( )
14 x+2 g_y_ : 3x1 3
- Ify=3 , then thevalueofdxlsQX og 3.

True ( ) / False ( )

log x
X

.1
1S5. The value off dx is -2—(log x)+ C.

True ( ) / False ( )

1I/BCA/102 (R)/190
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(6)

SECTIO N—II

( Marks : 10) |
Answer the following questions : 2x5=10
nd C is 98. If

1. The sum of three numbers A B a

A=B=—2— andB:C:-S-, then find the value of B.
3 8

1/BCA/102 (R)/190

- www.gzrsc.edu.in



(7))

2. The GM between two numbers is 16. If one number is
32, find the other number.
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M SR BY A

(8)

1 2 3] 1 g
= X.
3. 1f1 x 1[4 5 6|2 0 B
3 2 5j 3
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(9)

. _
4. If ax +2hxy+by2+2gx+2fy+c=0, find Ei-"i
dx
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(10 )

tan X
e |
—_—dx.

5. Evaluate f 5
1+ x<)

* &k A
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